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General Instructions :

(1)
(ii)
(iit)
(iv)

67/2/1

This question paper contains three parts A, B and C.
Part A is compulsory for all candidates.
Candidates can attempt only one part of the remaining parts B and C.

All parts of the questions should be attempted at one place.

WA &
(\TEIeT Wt qut wrafEal o o et )

PART A

(Accounting for Partnership Firms and Companies)

T, 9T qO S WK § au %,%@%%m@qﬁﬁwﬁwéﬁmw
W3 | 99 a% B § YaATHad 8dl 8, A Y HEIGR o AUATH AT h!
TMUET i |

1

X, Y and Z are partners sharing profits in the ratio of %, % and 5

Calculate the gaining ratio of remaining partners when Y retires from
the firm.

‘gftgrafeat qom egdarst & g’ % YR W grEier] % gHed 997 9reiel
TH o GHTIE | 3T=d¥e shIfVT |

Distinguish between dissolution of partnership and partnership firm on

the basis of ‘Settlement of assets and liabilities’.



3. el ATeieR 1 HaTHefa a1 4og o 99 ®H I ST GRETaRiEl 1 Yot
IR U TSt 1 G Freier s i rravshar #i gl 7 2 1

Why does a firm revaluate its assets and reassess its liabilities on

retirement or death of a partner ?

4. ‘I @Ar b TR TRAT ST g 2 1

Why is ‘Realisation Account’ prepared ?

5.  Teh Ul fohell STSTETe o 37Tl 1 BXUT el L Hehdll & ? 1
When can a company forfeit the shares held by a shareholder ?

6. ‘o ISl w1 379 iU | 1

Give the meaning of ‘Share Capital’.

7. RUGE] 1 GHATRES Ffavfd % &9 H FE @1 a0 o1 g 2 1

What is meant by issue of debentures as collateral security ?

8. Yo a1 TaW U ®H H AISER & qAT 3: 2 % FIIMM H ANl HT AN R @
g | 3T ISl SHAY: 50,000 T 3T 75,000 T off | 1 37, 2013 HI I|H
Tt Al B 1/4 9T % T o1g 1 U T AR o €9 § YAy fean | erqd
1o ST % ®9 H 75,000 T AT | BH ohl BT T JodTeh <hioT adT 3T
% A T ITYTH <Al o oTT AT USHHHT TEsar i | 3

Bhuwan and Shivam were partners in a firm sharing profits in the ratio
of 3 : 2. Their capitals were ¥ 50,000 and ¥ 75,000 respectively. They
admitted Atul on 1% April, 2013 as a new partner for 1/4™ share in the
future profits. Atul brought ¥ 75,000 as his capital. Calculate the value
of goodwill of the firm and record necessary journal entries for the above

transactions on Atul’s admission.

67/2/1 3 P.T.O.
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oy fafies 3 1 39w, 2012 =1 100 T 9@+ & 10,000, 10% OIS <
e form | P R QO €9 & AfugE gam | R S wEl o STER,
RO T SIS AN MR W 30 st q9n 31 A9 sl < AT & ael
B T KL hT Xl 10% B |

31 |, 2013 ! ATH B4 dTcil Tefariyehl o U sRoras <aTel & geaf-ad aen
FOAI T ATMNh AN Hl AH-EIH Tool0l § TIFARd i &l ATaeah
s gfafsat Hifsm |

Vishesh Ltd. issued 10,000, 10% Debentures of ¥ 100 each on 15 April,

2012. The issue was fully subscribed. According to the terms of issue,
Oth

interest on debentures is payable half-yearly on 3 September and

315 March and tax deducted at source is 10%.

Pass the necessary journal entries related to the debenture interest for
the half-yearly ending on 315* March, 2013 and transfer of interest on

debentures for the year to Statement of Profit and Loss.

faafafaa sitfeataa § smavaes Usam=n gfafsat Hifs

()  Toem sfean fafies 3 100 T w9 & 1,000, 9% o e fofuw
10% % &g T TohdT 7T AT, W1 100 T YcIeh o AT 3190 § giaidd
T TohaT | THAT AT Bl 25% & Hiftem w fifia fomam o on |

(i) @HE fdfs 7 100 T 9% & 6,000, 12% Fo9HT St fim
10 T 9fd koM & o3 W R TR o, T WMEH 32 100 T TS h
AT 3TN S 90 T Ui AT Yea o, H uiafdd sieh foha |

Pass necessary journal entries in the following cases :

1) Kim India Ltd. converted 1,000, 9% debentures of ¥ 100 each
issued at a discount of 10% into equity shares of ¥ 100 each issued
at a premium of 25%.

(i1)  Sonali Ltd. redeemed 6,000, 12% debentures of ¥ 100 each which
were issued at a discount of ¥ 10 per debenture by converting

them into equity shares of ¥ 100 each, ¥ 90 paid up.
4



11. W T8 Td gom™ I @ TS & HH hiFd a1d BT & 7T W o T Th
Aree ®H IE i 1 o fon =i wemfeess o fafi yeer 1 aiero
grerell gUEm 39 R @ 9 | $Ee U, I 1 3d, 2012 il HAEW:
2,00,000 T AT 1,00,000 T HT YSft TS | Goid™ 4 Fgoia bl foq1 ISt
greic o €9 H B4 T T hl U1 3T 46 bl | Tgoild IGhT [ORY &9 4
A Ak AATYH GoTensh T JighE T g | w1 8 4 38 @R
o | wmeied) i wid Fmfafaa o -

(i) o 98, gom™ Ud s5id 2: 2 : 1% 14T H @i 1 Seai il |

(i) S W 6% MY X & =S fean ST |
STt <Al ST < HROT, W g A 30 fareR, 2012 ® 50,000 T qAT GoHE A
1 SFadt, 2013 &l 20,000 T 1 Afafw Gt @ms | 31 W=, 2013 S THE
B ool 99 o foTT %1 &1 &9 2,00,300 T o7 |

(37) UH HE 3 oA TEATY ST BH FHIS 1 GEIT T =R B |
(d) 31 |/, 2013 1 THTH 89 a1t 99 o o wd &1 ev-g fafreem
QAT dIR ifT | 4

Karam Singh and Suleman decided to start a partnership firm to
manufacture low cost paper bags from the waste paper as plastic bags
were creating many environmental problems. For this, they contributed
capitals of ¥ 2,00,000 and ¥ 1,00,000 respectively on 15 April, 2012.
Suleman also expressed his willingness to admit Inderjeet as a partner
without capital in the firm. Inderjeet is specially abled but a very creative
and intelligent friend of his. Karam Singh agreed to this. The terms of
partnership were as follows :

1) Karam Singh, Suleman and Inderjeet will share profits in the ratio
of 2:2:1.
(i1)  Interest on capital will be provided @ 6% p.a.

Due to shortage of capital, Karam Singh contributed ¥ 50,000 on

30th September, 2012 and Suleman contributed ¥ 20,000 on 15t January,

2013 as additional capital. The profit of the firm for the year ended 31

March, 2013 was ¥ 2,00,300.

(a) Identify any two values which the firm wants to communicate to
the society.

(b)  Prepare Profit and Loss Appropriation Account of the firm for the
year ending 315t March, 2013.

67/2/1 5 P.T.O.
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Hfent, 81 T Tneft T wH H AreieR of 9uT A 2:2: 19 UG H i

o1 fawreH et off | 319/, 2013 i S feufa-foeor f=feafad o -

31 U, 2013 =i fearfa fererom
g Tt gfiEEaf @t | 3,60,000
At 2,80,000 STER 2,80,000
s 3,00,000 wih 1,30,000
aeft 1,00,000 6,80,000 | TS 4,60,000
TII-HIY 3,00,000
TR 2,50,000
12,30,000 12,30,000

1 TS, 2013 1 @1eft i g 31 T8 | AT FIEER TR 3G ITUUHRT & o=

ST R | AEd 14 5,00,000 T o7 |

(F) St W 129 aiteh & & A TG S |

(|) Hog Tl qo6 ol § I5ek g8 o6l 0T TUsd 9 el % 3Hted Ay
% YR T H! @A |

1 9aTs, 2013 %! @1&ft 1 Yol Grar dIr HiT |

®H I AN T YedATh IS o a1 < 3TFd 9 o 3 91 o T &




67/2/1

Manika, Nishtha and Sakshi were partners in a firm sharing profits in
the ratio of 2 : 2 : 1 respectively. On 315 March, 2013 their Balance

Sheet was as under :

Balance Sheet as on 315t March, 2013

A t A t
Liabilities T2 Assets e
Capitals : Fixed Assets 3,60,000
Manika  2,80,000 Debtors 2,80,000
Nishtha 3,00,000 Stock 1,30,000
Sakshi ~ 1,00,000 | 680,000 | Cash 4,60,000
Reserve Fund 3,00,000
Creditors 2,50,000
12,30,000 12,30,000

Sakshi died on 1% July, 2013. It was agreed between her executors and

the remaining partners that :

(a)  Goodwill of the firm be valued at 3 years’ purchase of average

profits for the last three years. The average profits were ¥ 5,00,000.

(b)  Interest on capital be provided at 12% p.a.

(c) Her share in the profits upto the date of death will be calculated on

the basis of average profits for the last three years.

Prepare Sakshi’s Capital Account as on 15t July, 2013.

P.T.O.
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1 309, 2012 i @ fafide w1 Fwior 20,00,000 T 6 AfeRRa IS S 10 T
T & 2,00,000 THAT A3 § fawiford off & we foham mm | el 3
1,80,000 THaT 379N & foru yferewor fnffia st oo war emufya febw | oot
1 1,70,000 THAT 3790 % fI0 emaed wH g€ | yow a¥ # w3 8 T ufa
379 < ATET | T 4 S 2,000 39T ares off q@T @H A S 4,000 A
1 ares off, 2 T ufd 73 it guw AT U 1 e T8 R | gem I
% WG GIH o I T FL0T KL v = e s1g H g0 fohu TTw 3,000 A
6 T ufd 3191, 8 T ATfad W g=: Fifera s feam mm |

fafafea el -

(27) ot Afaf, 1956 s afEnad Reft VI 90T 1% STER It &
feafa foemor # ‘o §&f |
(&) 3t & fau “@rai & g’ ot s91ET |

On 15 April, 2012, Khanna Ltd. was formed with an authorised capital of
T 20,00,000 divided into 2,00,000 equity shares of ¥ 10 each. The
company issued prospectus inviting applications for 1,80,000 equity
shares. The company received applications for 1,70,000 equity shares.
During the first year, ¥ 8 per share were called. Shikha holding 2,000
shares and Poonam holding 4,000 shares did not pay the first call of ¥ 2
per share. Poonam’s shares were forfeited after the first call and later on

3,000 of the forfeited shares were re-issued at ¥ 6 per share, ¥ 8 called
up.

Show the following :

(a)  ‘Share Capital’ in the Balance Sheet of the company as per revised
Schedule VI Part I of the Companies Act, 1956.

(b)  Also prepare ‘Notes to Accounts’.

8
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Taeh Tt S geashi § fefafad THeH o e stawes Tsame=n gt
HIT 4

i) Has fafieg 9 Tefoa fafies i 5,00,000 T i gl qe
3,00,000 T < IAT3T T 1,35,000 T & I Tfahdd & fou srfemgo
fraT | Tefaw fafiee &1 10 T Y% % FWaT M Sl 10% % 95 |
il hteh YA fohal TR |

(i) Ty fAfads € 5,00,000 T T EeR I TR | PO 10 T T&H
o AT M B 25% o Hifrm R frifia s foham |

Pass necessary journal entries for the following transactions in the books

of Sewak Ltd. :

1) Sewak Ltd. acquired assets of ¥ 5,00,000 and liabilities of
T 3,00,000 of Goodwill Ltd. for a purchase consideration of
T 1,35,000. Payment to Goodwill Ltd. was made by issuing equity

shares of 10 each at a discount of 10%.

(i1)  Purchased furniture of ¥ 5,00,000 from Ramprastha Ltd. The
payment to Ramprastha Ltd. was made by issuing equity shares of

T 10 each at a premium of 25%.

9 P.T.O.
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I1fe, forfia e faqet v w4 o AreigR o St @re qeret b1 3cdied it 3 | 9
5:3:2% OTUId H NI I §eail Hid & | 1 370, 2012 hl ITeh! Yoil
UT: 4,00,000 T, 5,00,000 T AT 9,00,000 T ff | IATTA H A1 AW &
wTe, Tuft Oreierl 3 SAfhTd 9 8 w1 NSl i Ferar s o1 v fom |
59 foTu 31fer 9 30 foareR, 2012 %1 ®H ¥ 30,000 T Al AT&LT fopa | forfta
I %H ¥ Thg T M L i W& 25,000 T % @ uqrd foaw ik =1
difsdi § 3= e fear | ged IR, faga 4 1 S9edl, 2013 &1 ol S 9
2,50,000 T W MW fohan 3R @Tg difsdl ! TRl % T T M-8
T |

AT T o AR T8O W Ifd a¥ 6% i ¢ & =1t foram smom | foan
WA TR H o 91¢ I§ IR T R e WA @l foran R | sneawes
oIS fafy i qen wE-feoft o6t Tz w9 @ qwifze | v foRdl @1 e
1 ¥t 3g@ HIT S A AR ToT 6! TEIST T =08 2 |

Anil, Vineet and Vipul were partners in a firm manufacturing food items.
They were sharing profits in the ratio of 5 : 3 : 2. Their capitals on
15t April, 2012 were ¥ 4,00,000, ¥ 5,00,000 and ¥ 9,00,000 respectively.
After the floods in Uttaranchal, all partners decided to help the flood

victims personally.

For this Anil withdrew ¥ 30,000 from the firm on 30" September, 2012.
Vineet instead of withdrawing cash from the firm took some food items
amounting to ¥ 25,000 from the firm and distributed those to flood
victims. On the other hand, Vipul withdrew ¥ 2,50,000 from his capital
on 15t January, 2013 and built a shelter-home to help flood victims.

The partnership deed provides for charging interest on drawings
@ 6% p.a. After the final accounts were prepared it was discovered that
interest on drawings had not been charged. Give the necessary adjusting
entry and show the working notes clearly. Also state any two values that

the partners wanted to communicate to the society.

10



16. T qUT IUW Th BH H HEGR o JAT IO YS h IFAE H A9 Fied o |
31 9T, 2013 = 31 fEfd foreor 7 wom o -

31 HT=, 2013 h1 I 9T IHIT T fearfa feemm

[SECALN 1,70,000 | S 1,10,000
Frar afagfd ffa 2,10,000 | 3G 2,40,000
A T 2,00,000 | Wi (¥2fe) 1,30,000
T 1 =T @I 80,000 | =L 2,00,000
g ENIEE] 9,30,000
™I 7,00,000 U 1 =T Tl 50,000
AT 3,00,000 10,00,000
16,60,000 16,60,000
I fafer =t v w1 TuTe g TR |

(i) A 50% Tk & Jed ¥ 10,000 T HF W o o0 | AT wieh ol
15,000 T h1 g W == gz T | SERT & 5% Sl G W Tt I TS |

(i) S 9 HAeR 1 50,000 T H & o= qem 9= i 4,50,000 T H 99
feam |

(iii)  TFGRI sl Ul YIra foam T |

(iv)  1,60,000 T T Teh AfIRgd AT o1 foet o1 fS&eht FH9erT 1,40,000 T
T feram |

FH @A IR HIT | 6

67/2/1 11 P.T.O.



Ramesh and Umesh were partners in a firm sharing profits in the ratio of
their capitals. On 315 March, 2013 their Balance Sheet was as follows :

Balance Sheet of Ramesh and Umesh as on 315 March, 2013

A t A t
Liabilities T2 | Assets e
Creditors 1,70,000 | Bank 1,10,000
Workmen’s Compensation Fund | 2,10,000 | Debtors 2,40,000
General Reserve 2,00,000 | Stock 1,30,000
Ramesh’s Current Account 80,000 | Furniture 2,00,000
Capitals : Machinery 9,30,000
Ramesh 7,00,000 Umesh’s
Current Account 50,000
Umesh 3,00,000 10,00,000
16,60,000 16,60,000

On the above date the firm was dissolved.

1) Ramesh took over 50% of stock at ¥ 10,000 less than book value.
The remaining stock was sold at a loss of ¥ 15,000. Debtors were
realised at a discount of 5%.

(i1)  Furniture was taken over by Umesh for ¥ 50,000 and machinery
was sold for T 4,50,000.

(iii)  Creditors were paid in full.

(iv) There was an unrecorded bill for repairs for ¥ 1,60,000 which was
settled at ¥ 1,40,000.

Prepare Realisation Account.

67/2/1 12



17. ShoddT QT il Teh BH H AreigR off a3 : 2 o AU § oY Sied! of |
1 39, 2013 Sl 37814 HBUM Hl BH o 1 T 1/5 W & T T ¢ AR
% ®9 4 Yoy feam | 1 30, 2013 T heddT qAT hien o1 &yt faewo

FeTgER o
1 YA, 2013 I HeUAT AAT hi-ehT o Feafa fawon

T T

gt iy qom waq 2,10,000
HeuT  4,80,000 I 2,70,000
HHHT 2,10,000 6,90,000 | &Ik 2,10,000
e 00000 T | o
Haardt afagfd e 1,00,000 | RS 1,30,000

TR 90,000
9,40,000 9,40,000

75 fofg foram man f6

(i) oW T 9 T oF 20% ST AT |
(i)  TI % eI Bl 60,000 T TR AW |
(iii)  =meo 319+ @It Hftrm & Wt @ e 80,000 T @t |
(iv) = gfagfd ffy 61 <Fard 60,000 T Hfv=a & T |

(v) oo 7w B e oo % % T % SR Goft g @t |
JHGATR @A, HISIERI o Yol @d a°1 95 BH o (efd foar R A | 8

YT

67/2/1 13 P.T.O.



i, 9 qAT IR Th FH H HIBIER 9 qAT 7: 2 : 1% I H A1 ded ¥ |
1 379, 2013 1 31 et foawor fegam o

1 373, 2013 hi Y, T AT TR kT Terta foaror

T T

ECil ufy 12,00,000

Ll 9,00,000 Taq 9,00,000

E2y 8,40,000 LT 3,60,000

R 9,00,000 26,40,000 | &Ik 6,60,000

. 6,00,000
A = 3,60,000 aammm m 5,70,000
Har afagfd Ffa 5,40,000 | Ths 2,10,000
e 3,60,000
39,00,000 39,00,000

39 fafdr =l 99 4 7aehrer wgw foRa |
frfafga fofg fore o .

(i) U ohl ©AT T AR 12,00,000 T TohT T |
(i) oW H I 30% FGET AWM qA W W 3,00,000 T FH eI

[SHIBIRS IO

(iii) TR T eI 60,000 T HA AT ST |
(iv) AR &fagfd i it gaad 1,40,000 3 Ffe=a g3 |
(v) S I ¢ TN hl 39 R QA § TAETIRG H ez S |

(vi) T AR I ISt I Ik AT AW fGWSE A H gHRESG R
SO | 39 SN o folT A@igRT & 90e] @Td @iel e |

YT WA, |EIGRT & YSil @Td a1 15 %H o1 fefa foewor qam Shifvw |

67/2/1 14



Kalpana and Kanika were partners in a firm sharing profits in the ratio
of 3 : 2. On 1% April, 2013 they admitted Karuna as a new partner for
1/5%" share in the profits of the firm. The Balance Sheet of Kalpana and

Kanika as on 15 April, 2013 was as follows :

Balance Sheet of Kalpana and Kanika as on 1% April, 2013

Liabilities Amount | ccets Amount
Capitals : Land and Building 2,10,000
Kalpana 4,80,000 Plant 2,70,000
Kanika 2,10,000 | 6,90,000 | Stock 2,10,000
General Reserve 60,000 E(S:;(;)I;'Sovision 1—’3122,,(())(())(()) 1,20,000
‘(;‘z)orfll;?r?;laiion Fund | 1,00,000 O3B 1,30,000
Creditors 90,000
9,40,000 9,40,000

67/2/1

It was agreed that

1) the value of Land and Building will be appreciated by 20%.

(i1)  the value of plant be increased by ¥ 60,000.

(iii) Karuna will bring ¥ 80,000 for her share of goodwill premium.

(iv)  the liabilities of Workmen’s Compensation Fund were determined

at ¥ 60,000.

(v)  Karuna will bring in cash as capital to the extent of =

the total capital of the new firm.

th

share of

Prepare Revaluation Account, Partners’ Capital Accounts and Balance

Sheet of the new firm.

OR

15
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P, Q and R were partners in a firm sharing profits in the ratio of 7: 2 : 1.
On 15 April, 2013 their Balance Sheet was as follows :

Balance Sheet of P, Q and R as on 1% April, 2013

Liabilities Amount |\ sots Amount
Capitals : Land 12,00,000
P 9,00,000 Building 9,00,000
Q 8,40,000 Furniture 3,60,000
R 9,00,000 26,40,000 | Stock 6,60,000
General Reserve 3,60,000 E;e:st (;)I;"Sovision Ei%(()),,%(())(()) 5,70,000
&O;irss:aiion Fund 5,40,000 | C2sP 2,10,000
Creditors 3,60,000
39,00,000 39,00,000

67/2/1

On the above date Q retired.

The following were agreed :

(i)
(i1)
(iii)
(iv)

(v)
(vi)

Goodwill of the firm was valued at ¥ 12,00,000.

Land was to be appreciated by 30% and Building was to be
depreciated by ¥ 3,00,000.

Value of furniture was to be reduced by ¥ 60,000.

The liabilities for Workmen’s
determined at ¥ 1,40,000.

Amount payable to Q was transferred to his loan account.

Compensation Fund were

Capitals of P and R were to be adjusted in their new profit sharing
ratio. For this purpose current accounts of the partners will be
opened.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of the new firm.

16




18. UA H wn faifies 7 10 T 9@ &% 2,00,000 THAT 3790 Hl 3 T UG ¥ h
Wt @ frifig @ o fow e stmfaa feu | ufy e g 9 2 of
e qUT 3Meed W — 8 T Ufa 3w (Nfem =fza)

Y| Ud | AR W - A G |

3,00,000 311 % ¢ 3G 98 BT | 50,000 379 o feTQ 3TEEH! i & H

T e qen ufy aom @ TE | W ATAgHT B FATUINTh IR TS H

TEe R fear war | e qen Afw I ufyr wim ot 1 e wer, SR

2,500 3731 o foTu 3fraed fopam o, ol SigRt THEq TR U4 81 T8 | 3Hh W

1 B0 KL foran T | W TR T SR N 7 T Wfd AW g Wed gA: Tk

L Team |

3T el & foTu et Y gedent o srages st yfafsat Sife | 8
AT

T @t T fAfies 9 10 T 3% & 75,000 THAT WM Hl 10% & §g | Fifa

w0 & fou steed = foru | ufy g g @ e ot

JATeE U7 3TMEed W — 4 T fd 3w

o Ug A\ IreFT W — AT YA |

2,00,000 311 % foTq 3TEEH 9T BT | 50,000 3T < feTq 3EEH! i & H

T e qen Tl aom @ TE | W AR B UGS YR TSI B

ree . fear | vem qeun Afeaw I ufyr A ot w8 qen e, SEw

1,500 3731 o fIT 3Traied foram o, <l Digsht THEd T TTH 81 718 | 3Tk 3120

ST FO1 KL Tofm T | g0 fohe U oFET SRl A g UM SAfehan gl U™
o g frifia e feam |

ITYH el & foTu et Y qedent O 3trawes UsHmH=n gfafset Sife |
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LCM Ltd. invited applications for issuing 2,00,000 equity shares of
T 10 each at a premium of ¥ 3 per share. The amount was payable as

follows :
On application and allotment — ¥ 8 per share (including premium)

On first and final call — the balance amount.

Applications for 3,00,000 shares were received. Applications for
50,000 shares were rejected and money refunded. Shares were allotted on
pro-rata basis to the remaining applicants. First and final call was made
and was duly received except on 2,500 shares applied by Kanwar. His
shares were forfeited. The forfeited shares were re-issued at ¥ 7 per

share fully paid up.

Pass necessary journal entries for the above transactions in the books of

the company.

OR

HCF Ltd. invited applications for issuing 75,000 equity shares of

T 10 each at a discount of 10%. The amount was payable as follows :
On application and allotment — ¥ 4 per share

On first and final call — the balance amount.

Applications for 2,00,000 shares were received. Applications for
50,000 shares were rejected and money refunded. Shares were allotted on
pro-rata basis to the remaining applicants. The first and final call was
made and was duly received except on 1,500 shares applied by Raja. His
shares were forfeited. The forfeited shares were re-issued at maximum

discount permissible under law.

Pass necessary journal entries for the above transactions in the books of

the company.

18
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PART B

(Financial Statements Analysis)

19. Uhe YaT8 faatur s1d 999 Uehg T8 § T TR 8 ? 1
What is meant by ‘Cash Flow’ while preparing Cash Flow Statement ?

20. Uhg JYaT8 ool dIR i o Tl Th 32T 1 3g@ HIfVY | 1
State any one objective of preparing Cash Flow Statement.

21. fochia faawor fagciyor 6 fordlt wes dfimm 1 3g@ S | 1

State any one limitation of financial statement analysis.

22. HIOH AU, 1956 I URENREG FET VI 9ET I AR ol o feufd

foawor @ fefafaa w1 ford 3u-3fieh o o=l quils St : 3
(i) TR

(i) IS e w=

(iii)  TTYRIAH JTae™

(iv) @I

(v) 9 & e graegm
(vi) Sie/deaTeh |

Under which sub-headings will the following items be shown in the
Balance Sheet of a company as per revised Schedule VI Part I of the
Companies Act, 1956 ?

(1) Long-term Loans

(ii))  Capital redemption reserve
(iii)  Short term provisions

(iv)  Goodwill

(v)  Provision for warranties

(vi)  Brand/Trademarks.

67/2/1 19 P.T.O.



23.

24.

67/2/1

Fotc farfee & 31 @, 2013 1 H g€ o * fog fmr emw-gr oo @

qeTTeHS AY-gTi faawor dom hifse
P— e | 2012-13 | 2011 - 12
qT F F
T ° I ST 8,05,000 | 6,14,000
I AW 43,000 51,000
= 559,000 | 4,88,000

I R e 40% ot |

From the following Statement of Profit and Loss of Navratan Ltd. for the
year ended 315 March, 2013, prepare a Comparative Statement of Profit

and Loss :
. Note | 2012 -13 | 2011 -12
Particulars
No. T <
Revenue from operations 8,05,000 6,14,000
Other Incomes 43,000 51,000
Expenses 5,569,000 4,88,000

Rate of income tax was 40%.

(3)

qiEde 98 3T -
(1)

(2)

20

1,00,000 T o THAT 37T b1 FEEA foham |
S ¥ 1,00,000 T T TRl 0T I foham |

Teh QT 1 RO-AHAT UM 1: 2 8 | AU Algd 3g@ hitag b
frafcfeq oFeAl & 3gud § () gfg 8Ff; (i) ST R AT (iii) g




67/2/1

C)

(a)

(b)

FTiad gaq1 § TR 8 ol IRAWIRTET STIATA <hl TUMET SHITT -

APEINICRERY

APEINIERCIPIEE
SRS

I gt
. — -

-
3,00,000
1,50,000

75,000
5,40,000

1,35,000

242

The Debt-Equity ratio of a company is 1 : 2. State with reason

which of the following transactions would (i) increase; (ii) decrease

or (iii) not change the ratio :

(1) Issued equity shares of ¥ 1,00,000.

(2) Obtained a short-term loan from bank < 1,00,000.

From the following information compute ‘Total Assets to Debt

Ratio’:

Long Term Borrowings
Long Term Provisions
Current Liabilities
Non-Current Assets

Current Assets

21

=
3,00,000
1,50,000

75,000
5,40,000

1,35,000

P.T.O.



25. Toew fafide & 31.3.2013 a0 31.3.2012 & fedfd foawo # & 78 g==meTi
YR W Tehg YaTE foawor dam i ;
31.3.2013 31.3.2012
ferazon T T
I — QUdT 9T SIaT :
1. | sfvremes fafert
(1) T gt 8,00,000 6,00,000
(9) @== T A 4,00,000 3,00,000
2. | A ﬁ??l'dTﬁ :
Sefehlee 0T 1,00,000 1,50,000
3. Wﬁ'ﬂﬁT@: :
ST SIdaTd 40,000 48,000
HA 13,40,000 10,98,000
II - gfeEra it
1. | 3T gl
(31) Tormft UiErgtET
(i) gt ufcrrafeat 8,50,000 5,60,000
(F) srue faw 2,32,000 1,60,000
2. %ITFLWﬁ'HTQﬁ?ﬁ' :
(1) =rey fafrem (fospa-am) 50,000 1,34,000
() % (HrerE) 76,000 82,000
(®) =T grfeRT 38,000 92,000
(3) Thg AT Uehs qed 94,000 70,000
HA 13,40,000 10,98,000
Wral & Aed
e 1
r— 2013 2012
T T
TOT T AT
B S N ST 4,00,000 |  3,00,000
67/2/1 22




Prepare a Cash Flow Statement on the basis of the information given in

the Balance Sheet of Libra Ltd. as at 31.3.2013 and 31.3.2012 :

Note | 31.3.2013 31.3.2012
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds:
(a) Share Capital 8,00,000 6,00,000
(b) Reserves and Surplus 4,00,000 3,00,000
2. | Non-Current Liabilities :
Long Term Borrowings 1,00,000 1,50,000
3. | Current Liabilities :
Trade Payables 40,000 48,000
Total 13,40,000 10,98,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible Assets 8,50,000 5,60,000
(b) Non-Current Investments 2,32,000 1,60,000
2. | Current Assets :
(a) Current Investments (Marketable) 50,000 1,34,000
(b) Inventories 76,000 82,000
(c) Trade Receivables 38,000 92,000
(d) Cash and Cash Equivalents 94,000 70,000
Total 13,40,000 10,98,000
Notes to Accounts
Note 1
Particulars 2013 2012
3T 3T
glf:;fl‘;e(%z;icselﬁp Slgstement of Profit & Loss) 4,00,000 3,00,000
67/2/1 23 P.T.O.




19.

20.

21.

22.

23.

24.

25.

67/2/1

o

(stfrenfers eraTe)
PART C
(Computerised Accounting)
TEAIT | FA1 IR 7 ? 1
What is meant by ‘hardware’ ?
‘grere feomeT w8 2 1
What is ‘database design’ ?
“Tororarat’ & s 1T B 2 1
What is meant by ‘Attributes’ ?
AHeRTT TR T <l 1 HHIST ! THFTSY | 3
Explain three limitations of Computerised Accounting System.
‘rffepter’ fafer <l dwWeTsT | 4

Explain the method of ‘Codification’.

SEEE Yoy dF (AW UH.) & HIE g AWIG: YA H(FRAI kAW
FATET | SEEE Yoy 9 (A .wa.wm.) & fhegl dF el ol qHesy | 4
Give the names of any two commonly available Data Base Management

System (D.B.M.S.) softwares. Explain any three disadvantages of Data
Base Management System (D.B.M.S.).

freafafea g= & f= afdmi 6t o & fofe weee @ g <l TomT Shif 6

(31) WM foren W & folu, 7@ 9aq 35,000 T % 25% hi & & AT 398
FW 30% H R H |

(@) wfesy ffy (Nfese w8) gem & o, qa Ia7 35,000 T T 25% hi
W qAT TR SR 30% I T |

(A@) g I & folu, g 97 & " foptram wam Sreskt qen wiosy Ay

(Tifade ®g) =T |

Calculate the formulae from the following information on Excel for
computing the amounts for :

(a) House Rent Allowance, Basic Pay upto ¥ 35,000 at 25% and above
it at 30%.

(b)  Provident Fund deduction, Basic Pay upto ¥ 35,000 at 25% and
30% above that.

(c) Net Salary, adding House Rent Allowance and deducting Provident
Fund calculated from Basic Pay.

24 2,000



Q.Set No. Marking Scheme 2013-14 Distribu
67/ | 67/ | 67/ Accountancy tion of
2/1 | 2/2 | 2/3 Foreign — 67/2/1 marks

Expected Answers /Value points

1 7 5 (o A4 11« [ 2 if Z retires. 1 mark
Ans. The ratio of X,Y and Zis 1/2 : 3/10:1/5=5:3:2
Therefore, If Y retires, the gaining ratio between X and Z is 5:2

2 6 6 Q. Distinguish between...............ceeue. liabilities. 1 mark
Ans.

Basis Dissolution of Dissolution of
Partnership Partnership Firm
Settlement of Assets are revalued & All the assets other than
assets & liabilities liabilities are cash are realised &
reassessed. liablities are paid.

3 5 7 Q. Why.....ccoeeiiiininnnnnnee partner? 1 mark
Ans. Assets are revalued & liabilities are reassessed to bring the same at actual present
value.

4 2 1 Q. Why.....ccooeeieinnnens prepared? 1 mark
Ans. Realisation Account is prepared to calculate the gain or loss on realisation of assets and
repayment of third party liabilities on the dissolution of a partnership firm.

5 4 2 Q. When .....uuvueeeeeirininniiniiinnnnn, shareholder. 1 mark
Ans. Shares can be forfeited for the non-payment of call money.

6 3 3 Q. Give.......eereeeenenee. Capital. 1 mark
Ans. The Share Capital is the amount that a company has raised by issue of shares.

7 1 4 Q. What.....ccccenveirereeencerreennnenenenens security. 1 mark
Ans. It means issue of debentures as an additional or secondary security in addition to
principal security for taking a loan.

8 10 | 10 | Q. Bhuwan and Shivam. ...................... Atul’s admission.

Ans. Calculation of hidden goodwill:

Based on Atul’s share the total capital of the new firm ought to be

% 75,000 x 4/1 = % 3,00,000

Less Capital of Bhuwan ¥ 50,000 1

Capital of Shivam ¥ 75,000

Capital of Atul X75,000 %2,00,000
Value of Goodwill %1,00,000
Atul’s share of goodwill =1,00,000 x 1/4

=% 25,000




Journal

Date Particulars LF Dr (%) cr(X) 1
Bank A/c Dr. 75,000
To Atul’s Capital A/c 75,000
(Cash brought in by Atul as his capital)
Atul’s Capital A/c Dr. 25,000
To Bhuwan’s Capital A/c 15,000 1
To Shivam’s Capital A/c 10,000
(Credit given for goodwill to Bhuwan and
Shivam on Atul admission) (1+1+1)
=3 marks
9 Q. Vishesh Ltd.. ...cccceeuerereeenncerreenenncnenennes Profit to Loss.
Ans.
Books of Vishesh Ltd.
Journal
Date Particulars LF Dr () cr (%)
2013 Interest on Debentures A/c Dr. 50,000
March 31 To Debenture holders’ A/c 45,000
To Income Tax Payable A/c/ TDS from 5,000 1
Debenture Interest
(Half Yearly Interest due on
debentures and tax deducted at
source)
March 31 Debenture holders’ A/c Dr. 45,000
To Bank A/c 45,000 1
(Payment of Interest)
March 31 Statement of Profit and Loss Dr. 1,00,000
To Interest on Debentures A/c 1,00,000
(Interest transferred to statement of 1
Profit and Loss)
(1+1+1)
=3 marks
10 Q. Pass NECESSANY ...ccceuvierierninanirnncnnnnnnns cases.
(1) Kim Ltd....coooiiniinnnnnnnnnnneneneeneeneenans per share.
Ans.
Books of Kim Ltd.
Journal
Date Particulars LF Dr (%) cr (%)
12% Debenture A/c Dr. 1,00,000
To Discount on issue of Debentures A/c 10,000 Y%
To Debenture holders’ A/c 90,000
(Being debentures due to debenture holders on
conversion of 1,000 debentures)
Debenture holders’ A/c Dr. 90,000
To Equity Share Capital A/c 72,000
To Securities Premium/ Securities Premium 18,000 1

Reserve A/c
(Conversion of debentures into issue of 720
equity shares issued at a premium)




Alternative Answer

Books of Kim Ltd.

Journal
Date Particulars LF Dr (%) cr (%)
12% Debenture A/c Dr. 1,00,000 %
To Debenture holders A/c 1,00,000
(Being debentures due to debenture holders on
conversion of 1,000 debentures)
Debenture holders A/c Dr. 1,00,000
To Equity Share Capital A/c 80,000
To Securities Premium /Securities Premium 20,000
Reserve A/c 1
(Conversion of debentures into issue of 800
equity shares issued at a premium)
(1) Sonali Ltd. ....cccceereeeeerrcrnncencnnen % 90 paid up.
Books of Sonali Ltd.
Journal
Date Particulars LF| Dr(X) cr (%)
12% Debenture A/c Dr. 600,000
To Discount on issue of Debentures A/c
To Debenture holder A/c 60,000 %
(Amount due to debenture holder on 5,40,000
conversion of 1000 debentures)
Debenture holder A/c Dr. 5,40,000
To Equity Share Capital A/c 5,40,000 1
(Amount discharged by issue of equity
shares 100 each, ¥ 90 paid up)
Alternative Answer
Books of Sonali Ltd.
Journal
Date Particulars LF | Dr (%) cr ()
12% Debenture A/c Dr. 6,00,000 \
To Debenture holders’ A/c 6,00,000 %
(Amount due to debenture holder on
conversion of 1000 debentures)
Debenture holders A/c Dr. 6,00,000
To Equity Share Capital A/c 5,909,940 1
To Cash/ Bank A/c 60
(Amount discharged by issue of equity shares \
100 each, T 90 paid up and fractional amount (1%x2)
paid in cash) =3
Marks
11 |13 |12 | Q. Karam Singh, Suleman and Inderjeet ...........cccceerrrrrrrnennneee. 31* March 2013.
Ans.
(a)Values highlighted: (Any two)
e Adherence to law to manufacture ISI marked electronic goods.
® Sensitivity towards specially abled people.
® Providing employment opportunities to economically weaker section 2

Encouragement to women entrepreneurship.

4




OR ANY OTHER SUITABLE VALUE

(b)
Profit and Loss Appropriation A/c
Dr. For the year ended 31* March 2013 Cr.
Particulars Amount (%) Particulars Amount ()
To Interest on Capital: By Profit and Loss A/c 2,00,300 1
Karam Singh’s Capital A/c @ 13,500
Suleman’s Capital A/c 6,300
To profit transferred to:
Karam Singh’s Capital A/c
72,200
Suleman’s Capital A/c
72,200
Inderjeet’s Capital A/c
36,100 1,80,500
2,00,300 "2,00,300 1
Working notes:
Calculation of Interest on Capital:
a) Interest on Karams Capital:
(2,00,000 x 6/100) + (50,000 x 6/100 x6/12)
=12,000 + 1,500 = ¥ 13,500
b) Interest on Suleman’s Capital: (1+1+2)
(1,00,000 x 6/100) + (20,000 x 6/100 x 3/12) =4
= 6,000 + 300 = ¥ 6,300 Marks
NO MARKS FOR WORKING NOTES
12 |14 | -- Q. Manica, Nishtha........cccceeereniiiniirenciennieennnns July 1, 2013
Ans.
Dr. Sakshi’s Capital A/c Cr.
Particulars Amount Particulars Amount
(%) (%)
To Sakshi’s executor’s 4,88,000 | By Balance b/d 1,00,000 %
A/c By Reserve fund A/c 60,000
By Manica’s Capital a/c Y
(G/w) 1,50,000
By Nishtha’s Capital A/c Y
(G/w) 1,50,000
By Profit and Loss 1
Suspense A/c 25,000
(Share of Profit) 1
By Interest on Capital A/c 3,000
4,88,000 4,88,000
Working notes :
Valuation of Goodwill :
(1) Average Profit = Rs 5,00,000
Goodwill at 3 years purchase 4 Marks

=5,00,000 x 3 = Rs 15,00,000
Sakshi’s share of goodwill = 15,00,000 x 1/5 = Rs 3,00,000

5




(2) Share of Profit payable to Sakshi
(upto the July 1, 2013)
=5,00,000 x 1/5 x 3/12 = Rs 25,000

NO MARKS FOR WORKING NOTES

13 |- |14 | Q.On1*April ccereerennneee. for the same.
Ans.
Balance Sheet of Khanna Ltd.
Asat ...coovviiiiiniinnnans
Particulars Note No. Amount Amount
Current year previous
(X) year(%) 1
EQUITY & LIABILITIES
Shareholders’ funds :
a) Share Capital 13,54,000
Notes to Accounts :
Particulars T
(1) Share Capital
Authorised Capital : 1
2,00,000 equity shares of Rs 10 each 20,00,000
Issued Capital 1
1,80,000 equity shares of Rs 10 each 18,00,000
Subscribed Capital
Subscribed but not fully paid
1,69,000 shares of T 10 each 1
%8 paid up 13,52,000 | 13,54,000
Less calls in arrears : (4,000)
Add : Share forfeited a/c 6,000
(1x4)=
4 Marks
14 | 12 | 13 | Q. Pass necessary.....cccceeeresrrnnnnensenenes Sewak Ltd.
Ans.
Books of Sewak Ltd.
Journal
Date Particulars L.f. Dr. Cr.
Amt () | Amt ()
(a)
Asset s A/c Dr. 5,00,000
To Liabilities A/c 3,00,000
To Capital Reserve A/c 65,000 1
To Goodwill Ltd. 1,35,000
(Being Business purchased from
Goodwill Ltd)




Goodwill Ltd Dr. 1,35,0000
Discount on Issue of Shares A/c Dr. 15,000 1
To Equity Share Capital A/c 1,50,000
(Being shares issued as purchase
consideration)
(b) 1
Furniture A/c Dr. 5,00,000
To Ram Prastha Ltd. 5,00,000
(Being furniture purchased)
Ram Prastha Ltd Dr. 5,00,000 1
To Equity Share Capital A/c 4,00,000
To Securities Premium/Reserve A/c 1,00,000
(Being shares issued at a premium as (1x4)=
purchase consideration) 4 Marks
15 | 15 | 15 | Q. Anil, Vineet.......c.cceeuueen. society.
Ans.
Journal
Date Particulars Dr Cr
Amt (%) Amt ()
Anil’s Capital A/c Dr 75
Vineet’s Capital A/c Dr 255 2
To Vipul’s Capital A/c 330
(Being adjustment entry passed
for omission of interest on
drawings)
Working notes
Anil (X) Vineet () Vipul () Total (%)
Int on drawings (Dr) 900 750 -- 1650 %
Profit (Cr.) 825 495 330 1650 %
Net effect 75 (Dr) 255 (Dr.) 330 (Cr.) 1
Value (any two) :-
- Help towards needy flood victims. (1x2)
- Maedical Aid in flood affected areas. =
(OR ANY OTHER SUITABLE VALUE) (2+2+2)
Marks
Alternative answer
Journal
S.No Particulars Dr Cr
Amt (%) Amt (%)
Vipul’s Capital A/c Dr 2670
To Anil’s Capital A/c 1800 2
To Vineet’s Capital A/c 870
(Being adjustment entry passed
considering Int. On drawings)




Working notes

Anil (%) Vineet(X) Vipul(%) Total(X)
Int on drawings (Dr) 900 750 3750 5400 A
Profit (Cr.) 2700 1620 1080 5400 Y
Net effect 1800 (Cr) 870 (Cr.) 2670 (Dr.) --- 1
Value (any two) :-
- Help towards needy flood victims.
- Medical Aid in flood affected areas. (1x2)
(OR ANY OTHER SUITABLE VALUE) =
(2+2+2)
Marks
16 | - -- Q. Ramesh and Umesh were partners.......... Prepare Realisation A/c.
Dr. Realisation A/c Cr.
Particulars Amount Particulars Amount
(X) X)
To Debtors 1/2 { 2,40,000 | By Creditors 1,70,000 Y%
To Stock 1,30,000 | By Ramesh’s Current / Capital 1
To furniture 1/2 2,00,000 | A/c 55,000
To Machinery { 9,30,000
By Umesh’s Current/ capital A/c
To Bank A/c - Furniture
Outstanding bill 1,70,000 }‘/z 50,000 1
Creditors 1,40,000 3,10,000 | By Bank A/c
Stock — 50,000
Debtors—  2,28,000
Machinery — 4,50,000 7,28 ,000 1
By loss transferred to
Ramesh’s Current / Capital A/c
5,64,900 8,07,000 1
Umesh’s Current / Capital A/c
2,42,100
18,10,000 M 6 marks
17 | 18 | 18 | Q. Kalpana and Kanika were partners....... Prepare Revaluation Account, partners’ Capital
Account and the Balance Sheet of the new firm.
Revaluation A/c
Dr Cr
Particulars Amount Particulars Amount
(X) (%)
To profit transferred to By Land and building A/c 42,000
Partners’ Capital A/c By Plant A/c 60,000 2
Kalpana 61,200
Kanika 40,800 1,02,000
1,02,000 1,02,000
Dr. Partners’ Capital A/c Cr.

8




Particulars Kalpana Kanika Karuna Particulars Kalpana Kanika Karuna
. g g g i g
To Balance 6,49,200 3,22,800 2,43,000 By Balance b/d 4,80,000 2,10,000
b/d By Revaluation A/c 61,200 40,800
By General Reserve 36,000 24,000
A/c
By Workmen
Compensation Fund
AJc 24,000 16,000
By premium for
goodwill A/c 48,000 32,000 -
By Cash A/c - - 2,43,000
6,49,200 3,22,800 2,43,000 6,49,200 3,22,800 43,000
Balance Sheet of Reconstituted firm
as at 1* April 2012
Liabilities Amount () Assets Amount ()
Creditors 90,000 | Land and Building 2,52,000
Workmen Compensation Plant 3,30,000
Claim 60,000 | Stock 2,10,000
Debtors 1,32,000
Capital: Less provision 12,000 1,20,000
Kalpana— 6,49,200 Cash 4,53,000
Kanika— 3,22,800
Karuna— 2,43,000 12,15,000
13,65,000 13,65,000
OR
Q. P, Q and R were partners....... Balance Sheet of the new firm.

Dr Revaluation A/c Cr
Particulars Amt () Particulars Amt ()
To Building A/c 3,00,000 | By Land A/c 3,60,000
To Furniture A/c 60,000

3,60,000 3,60,000
Partners’ Capital A/c
Dr. Cr.
P(X) a(X) | R(X) P(%) Q(X) R(X)
ToQ’s By Balance b/d 9,00,000 8,40,000 | 9,00,000
Capital By General
A/c 2,10,000 30,000 | Reserve 2,52,000 72,000 36,000
ToQ’s By Workmen'’s
Loan 12,32,000 -- | compensation
AJc fund 2,80,000 80,000 | 40,000
ToR’s 6,75,000 | By P’s Capital - 2,10,000 -
Current A/c -- 30,000 --
A/c By R’s Capital 6,75,000 --
To 18,97,000 2,71,000 | A/c
Balance By P’s Current
c/d A/c
21,07,000 | 12,32,000 | 9,76,000 21,07,000 12,32,000 | 9,76,000

1x3

3 Marks

(2+3+3)

8
Marks

1x3

3 Marks




Balance Sheet of Reconstituted firm
as at 1° April 2012

Liabilities Amount (%) Assets Amount (Rs.)
Creditors 3,60,000 | Land 15,60,000
Workmen Compensation 1,40,000 | Building 6,00,000
claim Furniture 3,00,000
Capitals: Stock 6,60,000
P 18,97,000 Debtors 6,00,000 3
R 2,71,000 21,68,000 | Less provision 30,000 5,70,000
Q’s loan A/c 12,32,000 | Cash 2,10,000
R’s current A/c 6,75,000 | P’s current A/c 6,75,000
45,75,000 45,75,000
— — (2+3+3)
Marks
18 | - -- Q. LCM Ltd. ..c.oiiinniiiineeiiinreneniens
Ans.
Books of LCM Ltd.
Journal
Date Particulars LF | Dr.Amt (%) | Cr. Amt (%)
Bank A/c Dr. 24,00,000 --
To Share Application and allotment A/c -- 24,00,000
(Being application & allotment received on 1
3,00,000 shares)
Share application and allotment A/c Dr. 24,00,000 -
To Share capital A/c -- 10,00,000
To Securities Premium / Securities premium - 6,00,000
Reserve A/c -- 4,00,000 1%
To share first & final call/ calls in advance A/c 4,00,000
To Bank A/c
(Being application money adjusted)
Share first and final call A/c Dr. 10,00,000 -
To Share Capital A/c - 10,00,000
(Being first and final call money due) 1
Bank A/c Dr. 5,94,000 --
To share first and final call a/c -- 5,94,000
OR
Bank A/c Dr. 5,94,000 --
Calls in arrears A/c Dr. 6,000 --
Calls in advance A/c Dr. 4,00,000 1
To share first and final call a/c 10,00,000
(Being first and final call received)
Share Capital A/c Dr. 20,000 --
To Share first and final call /Calls in arrears A/c -- 6,000 1%
To Share Forfeiture A/c -- 14,000
(Being 2,000 shares forfeited)

10




Bank A/c Dr. 14,000 --
Share forfeiture A/c Dr. 6,000 --
To Share Capital A/c - 20,000
(Being 2,000 shares reissued at a premium)
Share forfeiture A/c Dr. 8,000 --
To capital reserve A/c - 8,000
(Being forfeiture balance transferred to capital
reserve)
OR
Q. HCF Ltd.invited appliactions......... company.
Books of HCF Ltd.
Journal
Date Particulars LF | Dr. Amt () | Cr. Amt(X)
Bank A/c Dr. 8,00,000 --
To Share Application and allotment A/c - 8,00,000
(Being application & allotment received on
2,00,000 shares)
Share application and allotment A/c Dr. 8,00,000 -
Discount on issue of shares A/c Dr. 75,000 -
To Share capital A/c -- 3,75,000
To Bank A/c -- 2,00,000
To calls in advance / share final call A/c -- 3,00,000
(Being application money adjusted)
Share first and final call A/c Dr. 3,75,000 -
To Share Capital A/c -- 3,75,000
(Being first and final call money due)
Bank A/c Dr. 74,250 --
To share first and final call a/c - 74,250
OR
Bank A/c Dr. 74,250 --
Calls in arrears A/c Dr. 750 --
To share first and final call a/c 75,000
(Being first and final call received)
OR
Bank A/c Dr. 74,250
Calls in arrears A/c Dr. 750
Calls in advance A/c Dr. 3,00,000
To share first and final call A/c 3,75,000

(Being final call money received with the
exception of 750 shares)

(1+1%
+1+1+
1% +1
+1=8
mks

1%

11




Share Capital A/c Dr. 7,500 --
To Share first and final call A/c/ calls in arrears -- 750 1%
To Share Forfeiture A/c -- 6,000
To discount on issue of shares A/c - 750
(Being 750 shares forfeited)
Bank A/c Dr. 750 --
Discount on issue of shares A/c Dr. 750 -- 1%
Share forfeiture A/c Dr. 6,000 --
To Share Capital A/c 7,500
(Being 750 shares reissued at a premium) 8 Marks
PART B
(Financial Statements Analysis)
19 -- -- Q. State .....ccevennrerisrnnninnnns statement. 1 Mark
Ans. Cash flow refers to inflow and outflow of cash & cash equivalents.
20 -- -- Q. State the objective................. flow statement. 1 Mark
Ans. Objective of preparing cash flow statement: (Any one)
(a) To provide information regarding sources and uses of cash from operating, investing
and financing activities separately.
(b) To highlight change in cash position.
21 21 -- Q. State any ....ccceeceererrenncerrennnnenns financial statement. 1 Mark
Ans. Limitations of financial statements: (Any one)
e Affected by window dressing.
® lack of qualitative analysis.
® Do not reflect changes in price level.
e Different accounting policies.
e Historical Analysis.
e Suffers from limitations of financial statements.
¢ Not free from bias.
¢ |dentifies only symptoms.
22 22 -- Q. Under which .............ccceueneeee. Companies Act, 1956.
Ans.
S.No. Items Sub — Heading
1 Long term loans Long Term Borrowings
2 Capital redemption Reserve Reserve & Surplus
3 Short Term Provisions Short Term Provisions/ %x6
Current Liabilities =
4 Goodwill Fixed Assets- Intangible 3 Marks

assets

Provision for warranties

Long Term provisions

Brand/ Trademarks

Fixed Assets- Intangible
assets
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23 -- 23 Q. From the following .................. Services Ltd.
Ans.
COMPARATIVE STATEMENT OF PROFIT & LOSS
For the years ended 31 March’2012 and 2013
Particulars Not | 2011-12 | 2012-13 | Absolute | Change
e (%) () change | In %age
No.
Revenue from 6,14,000 | 8,05,000 | 1,91,000 31.1% 1
Operations
Add other income 51,000 43,000 (8,000) | (15.69)% 1
Total Revenue 6,65,000 | 8,48,000 | 1,83,000 | 27.52% }
Less: Expenses 4,88,000 | 5,59,000 71,000 | 14.55%
Profit before Tax 1,77,000 | 2,89,000 | 1,12,000 | 63.28% } 1
Less: Tax @ 40% 70,800 | 1,15,600 44,800 | 63.28% 1
Profit after tax 1,06,200 | 1,73,400 67,200 | 63.28% }
1x4=
4 Marks
24 24 24 Q. From the following ........ccceeveiiiieiiiniiinnnnnn.
Ans.
(a) The Debt Equity Ratio......c.ccccuveeeeieveeennnnne. % 1,00,000.
CHANGE REASON
(1) Decrease Increase in equity with no change in debt. 1
(2) Nochange : Neither Equity nor Debt is changing. 1
=2 marks
(B)FromM....ceeecieeiecieeeeeee e, ratio
Total assets to debt ratio = Total Assets / Long Term Debt 1
Total assets = Non current assets + Current assets
=5,40,000 + 1,35,000 = ¥ 6,75,000 %
Long term debt = Long term borrowings + Long term provisions Y%
= 3,00,000 + 1,50,000 = X 4,50,000
Total assets to debt ratio = 6,75,000 / 4,50,000 = 1.5:1 Y
=2 marks
=2+2
4 Marks
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25

25

25

Q. Prepare a Cash flow Statement ............... 31-3-2012.

Ans.

Cash flow statement Libra Ltd.
For the year ended 31* March 2013 as per AS-3 (Revised)

Particulars Details () | Amount ()
Cash Flows from Operating Activities:
Net Profit before tax & extraordinary items 1,00,000
Add: Non cash and non-operating charges --
Operating_ profit before working capital changes " 1,00,000
Add: Decrease in Current Assets
Decrease in trade receivables 54,000
Decrease in inventories 6,000
Less: Decrease in Current Liabilities
Decrease in trade payables (8,000)
Cash generated from Operating Activities 1,52,000
Cash flows from Investing Activities :
Purchase of fixed assets (2,90,000)
Purchase of non current investments (72,000)
Cash used in investing activities (3,62,000)
Cash flows from Financing Activities:
Issue of share capital 2,00,000
Repayment of loan (50,000)
Cash generated from financing activities 1,50,000
Net decrease in cash & cash equivalents (60,000)
Add: Opening balance of cash & cash equivalents:
Marketable Securities 1,34,000
Cash & cash equivalents 70,000
Closing Balance of cash & cash equivalents:
: Marketable Securities 50,000 204,000
Cash & cash equivalents 94,000
1,44,000

1%

> 1

6 Marks
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PARTC
(Computerized Accounting)

19 20 21 Q. What is ......... hardware? 1 Mark
Ans. Computer, associated peripherals and their network is known as hardware.
20 21 19 Q. What................... database design? 1 Mark
Ans. The term database design can be used to describe the structure of different parts
of the overall database.
21 19 20 Q. What is.......... Attribute? 1 Mark
Ans. Specific characteristics of the information stored in various rows of a database is
known as attributes.
22 22 22 Q. Explain.........cccoeevvevvnvnanee. System.
Ans.
Limitations (Any three):
1. Faster obsolesce of technology necessitates investment in short period of time.
2. Data may be lost or corrupt due to power interruptions.
3. Data are prone to hacking. (1x3) =3
4. Un-programmed and un-specified reports cannot be generated. Marks
23 24 23 Q. GiVe..uereriirenerririinanenees System
Ans. Code is an identification mark. The coding scheme of Account heads should be
such that it leads to grouping of accounts at various levels so as to generate Balance
Sheet and P/L A/c.
Ist digit should be allotted to major heads e.g. 1 for Assets 2 for liabilities etc.
Then 2™ digit for sub heads under these major heads e.g. 11 for fixed assets, 13 for
current assets etc.
3" and 4™ digit should indicate sub sub heads falling under sub heads.
This coding scheme will utilise the hierarchy present in grouping of accounts. Apart
from these sequential codes, Block codes, Mnemonic codes can also be used to identify
various groups of accounts. 4 Marks
24 23 24 Q. Give the ....covveevvervneeceenneee System.
Ans. Oracle and SQL 1
Disadvantages of DBMS (Any three):
1. Well trained officials: Only employees with special skill can make use of this (1/2x2) =2
system.
2. Huge costs. (1+42)=3
3. Security problems. Marks
4. Obsolescence.
25 -- -- Q. Calculate........coeevvrervreerannnes Pay.
Ans.
a) House rent allowance = IF( B1>35,000, 0.3*B1, 0.25*B1)
b) Provident Fund = IF(B1>35,000, 0.3*B1, 0.25*B1) (2x3) =6
Marks

c) Net Salary = SUM(B1,C1,--D1)
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